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NOTE: - Q1 is compulsory
Solve any three from remainin

Q1. Solve any four from following:*
a. Compare the importance of Partial order planning; over Total-order plannmg.
b. What data is used to evaluate award’and punishiment of robgt navigation?

Explain the categonz@tlon of Intelhgent Systerﬁ -

How AI will help "n“the Roboflcs apphcatlon

ao

Q2. a. Whabac‘uons wouIdA’you takexto prove “
prqposmonal loglc :
«can read i is hterate

» h(F) = 10,
[10]

it'search gjln’fc”i\Depth first iterative deepening search. [10]
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Q4. a. Apply the alpha beta pruning on fi *wing ex
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